Text S1. The ODE Model

d ([CRP])

dt

d ([PC])
dt

d ([PC/CRP])

dt

d([c4])
dt

d ([C4a])
dt

= — ((ka0ly - [PC] - [CRP] — kaOly - [PC/CRP)))
— ((ke01y - [GlcNac/LF] - [CRP] — keOly - [GlcNac/LF/CRP)))
— ((ka01; - [PC] - [CRP] — ka0l - [PC/CRP]))
4 ((ka0O1, - [PC] - [CRP] — kaOl, - [PC/CRP]))
— ((ka02; - [PC/CRP] - [C1] — ka02, - [PC/CRP/C1]))
— ((kfol; - [C4BP] - [PC/CRP] — kf0l, - [C4BP/PC/CRP]))
— ((kd01; - [PC/CRP] - [LF] — kd01, - [PC/CRP/LF]))
B (1«1031 . [PC/CRP/LF/MASP] - [C4])
kd03; + [C4]
kb03; - [GleNac/LF/MASP] - [C4]
B ( kb03 + [C4] )
- <ke031 . [GleNac/LF/CRP/C1] - [04])
ke035 + [CA4]
ka03; - [PC/CRP/C1] - [C4]
B < ka032 + [C4] )
- <kc1061 . [PC/CRP/LF/C1] - [c4]>
kd06y + [C4]
~ <ke061 . [GleNac/LF/CRP/MASP] - [04])
ke062 + [C4]
B (kdlol . [PC/CRP/LF/C1/MASP] - [04])
kd105 + [C4]
B <kg031 - [GleNac/HF /MASP] - [04])
kg032 + [C4]
kd03; - [PC/CRP/LF/MASP] - [C4]
+ < kd03; + [C4] )
kb03; - [GleNac/LF/MASP] - [C4]
+ ( kb032 + [C4] )
ke03; - [GleNac/LF/CRP/C1] - [C4]
+ ( ke035 + [C4] >
ka03; - [PC/CRP/C1] - [C4]
+ ( ka032 + [CA4] )
N (kd061 . [PC/CRP/LF/C1] - [04]>
kd06s + [C4]
ke06; - [GlcNac/LF/CRP/MASP] - [C4]
+ ( ke065 + [C4] )
N (kd101 . [PC/CRP/LF/C1/MASP] - [c4]>
kd10; + [CA4]
kg03; - [GlcNac/HF/MASP] - [C4]
* ( kg03> + [O4] )
kd03; - [PC/CRP/LF/MASP] - [C4]
* ( kd03; + [C4] )
kb03; - [GleNac/LF/MASP] - [C4]
+ ( kb032 + [C4] )
. (k9031 - [GleNac/LF/CRP/C1] - [04])
ke033 + [CA4]
ka03; - [PC/CRP/C1] - [C4]
+ ( ka03; + [C4] )

(kf04; -

[C4BP] - [C4b] — kf04, - [C4BP/C4b)))

= (
+ (kf05 - [C4b/C2a] - [C4BP])
+

kd06¢ -

[PC/CRP/LF/C1] - [C4]
kd06s + [C4] )

ke06; - [GlcNac/LF/CRP/MASP] - [C4]
+ ( ke062 + [C4] >
kd10; - [PC/CRP/LF/C1/MASP] - [C4]
+ ( kd102 + [C4] )
— ((kcO1y - [C4b] - [C2a] — kcOlz - [C4b/C2a]))
n (kg031 - [GlcNac/HF /MASP] - [C4]>
kg032 + [C4]



[PC/CRP/C1]))

[GleNac/LF/CRP] - [C1] — ke02; - [GlcNac/LF/CRP/C1]))
[PC/CRP/LF/C1]))

[PC/CRP/LF/C1/MASP]))

d([c2]) kd04; - [PC/CRP/LF/MASP] - [C2]
ak ( kd04y + [C2] )
kb04; - [GleNac/LF/MASP] - [C2]
B ( kb04, + [C2] )
B <ke041 - [GleNac/LF/CRP/C1] - [CQ]>
keOdy + [C2]
B (kaO41 - [PC/CRP/C1] - [cz])
kaO4dy + [C2]
B (kd071 . [PC/CRP/LF/C1] - [c2]>
kd072 + [C2]
ke07; - [GleNac/LF/CRP/MASP] - [C2]
B ( ke072 + [C2] )
kdll; - [PC/CRP/LF/C1/MASP] - [C2]
B ( kdlly + [C2] )
_ <kg041 - [GlcNac/HF /MASP] - [CQ])
kg04y + [C2]
d([d(i”) = — ((ka02; - [PC/CRP] - [C1] — ka02; -
— ((ke02; -
— ((kd05; - [PC/CRP/LF] - [C1] — kd05; -
— ((kd09; - [PC/CRP/LF/MASP] - [C1] — kd09 -
w = + ((ka02; - [PC/CRP] - [C1] — ka02; - [PC/CRP/C1]))
d ([C2a]) kd04; - [PC/CRP/LF/MASP] - [C2]
@ - F kd0dy + [C2] )
kb04; - [GleNac/LF/MASP] - [C2]
+ < kb04, + [C2] >
n <kc041 - [GleNac/LF/CRP/C1] - [CQ])
ke04y + [C2]
+ (kf05 - [C4b/C2a] - [CABP])
L (k204 - [PC/CRP/CI) [02]>
ka04; + [C2]
kd07, - [PC/CRP/LF/C1] - [C2]
+ < kd07; + [C2] )
ke07; - [GlecNac/LF/CRP/MASP] - [C2]
+ < ke075 + [C2] )
— ((ke01; - [C4b] - [C2a] — keOl, - [C4b/C2a]))
kdll; - [PC/CRP/LF/C1/MASP] - [C2]
+ < kdll, + [C2] )
N (kg041 - [GlcNac/HF /MASP] - [02]>
kg0dy + [C2]
d ([C2b]) kd04; - [PC/CRP/LF/MASP] - [C2]
@ T ( kd0dy + [C2] )

- [GleNac/LF/MASP] - [C2]
kb04; + [C2] >

- [GleNac/LF/CRP/C1] - [C2]
ke04y + [C2] )

- [PC/CRP/C1] - [C2]
ka04, + [C2] )

- [PC/CRP/LF/C1] - [C2]
kd072 + [C2] )

- [GlcNac/LF/CRP/MASP] - [C2]
ke072 + [C2] )

. [PC/CRP/LF/C1/MASP] - [C2]
kdll, + [C2] >

- [GlcNac/HF /MASP] - [C2]
kg0ds + [C2] )



d ([C4b/C2a] )
dt

d([c3])
dt

d ([C3a))
dt

d ([C3b])
dt

d ([dC3b])
dt

d ([MASP])
dt

d ([dC4b/C2a] )
dt

d ([GlcNac] )
dt
d ([GlcNac/LF])
dt

d ([LF])
dt

d ([GleNac/LF/MASP] )
dt
d ([PC/CRP/LF])
dt

d ([PC/CRP/LF/MASP])

dt

d ([GlcNac/LF/CRP])

dt

d ([GlcNac/LF/CRP/C1])

dt

d ([C4BP])

dt

= — (kf03 - [C4b/C2a] - [C4BP])

— (kf05 - [C4b/C2a] - [CABP])

— ((kf06; - [C4b/C2a] - [CABP] — kf06, - [C4b/C2a/CABP]))
— (kl(tmpS) . [C4b/C2a])

+ ((kc01y - [C4b] - [C2a] — kcO1ly - [C4b/C2al))

— ((kc04, - [C4b/C2a] — kc042 - [dC4b/C2a)))

= — (k02 - [C4b/C2a] - [C3])
= + (k02 - [C4b/C2a] - [C3])

= — (kl(tran) . [C3b])
+ (kc02 - [C4b/C2a] - [C3])
— ((ke031 - [C3b] — kc032 - [dC3b)))

= + ((kc03; - [C3b] — kc03; - [dC3b)))

= — ((kb02; - [GlcNac/LF] - [MASP] — kb02; - [GlcNac/LF/MASP)))

— ((ke05; - [GlcNac/LF/CRP] - [MASP] — ke05; - [GlcNac/LF/CRP/MASP]))
— ((kd08; - [PC/CRP/LF/C1] - [MASP] — kd08, - [PC/CRP/LF/C1/MASP]))
— ((kg02; - [GlcNac/HF] - [MASP] — kg022 - [GlcNac/HF/MASP]))
— ((kd02; - [PC/CRP/LF] - [MASP] — kd02; - [PC/CRP/LF/MASP]))

= — ((kfo7; - [dC4b/C2a] - [C4ABP] — kf07, - [dC4b/C2a/CABP]))
+ ((kc04; - [C4b/C2a] — kc042 - [dC4b/C2a]))

= — ((kb01; - [GlcNac] - [LF] — kbOly - [GlcNac/LF]))

= + ((kb01; - [GlcNac] - [LF] — kbOls - [GlcNac/LF]))
— ((kb02; - [GlcNac/LF] - [MASP] — kb02; - [GlcNac/LF/MASP]))
— ((ke01; - [GlcNac/LF] - [CRP] — keOly - [GlcNac/LF/CRP]))

= — ((kb01; - [GlcNac] - [LF] — kb0ly - [GlcNac/LF]))
— ((kd01; - [PC/CRP] - [LF] — kd0Ol, - [PC/CRP/LF]))

= + ((kb02; - [GlcNac/LF] - [MASP] — kb02; - [GlcNac/LF/MASP]))

((xd05; - [PC/CRP/LF] - [C1] — kd05, - [PC/CRP/LF/C1]))

- ((k1(tmpf1) - [C4BP] - [PC/CRP/LF] — K2(mp;1) - [C4BP/PC/CRP/LF]))
+ ((kd01; - [PC/CRP] - [LF] — kd01s - [PC/CRP/LF]))
~ ((xd02; - [PC/CRP/LF] - [MASP] — kd02, - [PC/CRP/LF/MASP]))

= — ((kd09; - [PC/CRP/LF/MASP] - [C1] — kd09, - [PC/CRP/LF/C1/MASP]))
+ ((kd02; - [PC/CRP/LF] - [MASP] — kd02, - [PC/CRP/LF/MASP]))

= + ((ke01; - [GlcNac/LF] - [CRP] — keOl, - [GleNac/LF/CRP]))

— ((ke02; - [GlcNac/LF/CRP] - [C1] — ke022 - [GlcNac/LF/CRP/C1]))
— ((kf02; - [C4BP] - [GlcNac/LF/CRP] — kf02, - [C4BP/GlcNac/LF/CRP]))
— ((ke05; - [GlcNac/LF/CRP] - [MASP] — ke052 - [GlcNac/LF/CRP/MASP]))

= + ((ke02; - [GlcNac/LF/CRP] - [C1] — ke022 - [GlcNac/LF/CRP/C1]))

= — ((kf01; - [C4BP] - [PC/CRP] — kf0ly - [C4BP/PC/CRP)))
— ((kf02; - [C4BP] - [GlcNac/LF/CRP] — kf02; - [C4BP/GlcNac/LF/CRP]))
— ((kf04; - [C4BP] - [C4b] — kf04y - [CABP/C4b]))
— ((kf061 - [C4b/C2a] - [C4BP] — kf065 - [C4b/C2a/C4BP)))
— ((kfo7; - [dC4b/C2a] - [C4BP] — kf072 - [dC4b/C2a/C4BP]))
— (Kl(tmp1) - [C4BP])

- ((k1(tmpf1) - [C4BP] - [PC/CRP/LF] — K2(mpp1) - [C4BP/PC/CRP/LF]))



d ([C4BP/PC/CRP])

dt
d ([C4BP/GlcNac/LF/CRP])

dt

d ([iC4b/C2a] )

dt

d ([C4BP/C4b])

dt
d ([C4b/C2a/CABP])

dt
d ([dC4b/C2a/C4BP] )

dt
d ([PC/CRP/LF/C1])

dt

d ([C4BP/PC/CRP/LF])

dt
d ([GlcNac/LF/CRP/MASP] )

dt
d ([PC/CRP/LF/C1/MASP])

dt

d ([GlcNac/HF])

dt

d ([HF])
dt
d ([GlcNac/HF /MASP])

dt
d(x])
dt

+ ((kfo1; -

= + ((xf02, -

[C4BP] - [PC/CRP] — kf0l, - [C4BP/PC/CRP]))

[C4BP] - [GlcNac/LF/CRP] — kf02; - [C4BP/GlcNac/LF/CRP]))

= + (kf03 - [C4b/C2a] - [C4BP])

= + ((kfo4; -

— ((kd08; -

+ ((ke05;

+ ((kd09,

= + ((kg01; -

— ((kg02 -

— ((kg01y

= + ((kg021 -

— ((kg01y

+ ((kf06; -
+ ((k£07; -

+ ((kd05; -

= + ((kd08; -

[C4BP] - [C4b] — kf04, - [C4BP/C4b)))
[C4b/C2a] - [CABP] — kf06, - [C4b/C2a/C4BP]))
[dC4b/C2a] - [CABP] — kf07, - [dC4b/C2a/C4BP]))

[PC/CRP/LF] - [C1] — kd05, - [PC/CRP/LF/C1]))
[PC/CRP/LF/C1] - [MASP] — kd08, - [PC/CRP/LF/C1/MASP)))

+ ((k1(tmpf1) - [C4BP] - [PC/CRP/LF] — k2(mp;1) - [C4BP/PC/CRP/LF]))

- [GleNac/LF/CRP] - [MASP] — ke05, - [GlcNac/LF/CRP/MASP]))

[PC/CRP/LF/C1] - [MASP] — kd08; - [PC/CRP/LF/C1/MASP]))

. [PC/CRP/LF/MASP] - [C1] — kd09, - [PC/CRP/LF/C1/MASP]))

[X] - [HF] — kgOlz - [GlcNac/HF]))
[GleNac/HF] - [MASP] — kg02; - [GlcNac/HF/MASP]))

- [X] - [HF] — kgOl, - [GlcNac/HF)))

[GlcNac/HF] - [MASP] — kg02; - [GlcNac/HF/MASP]))

- [X] - [HF] — kg0lz - [GlcNac/HF]))



